



# Article Convolutional Neural Networks for Segmenting Cerebellar Fissures from Magnetic Resonance Imaging

Robin Cabeza-Ruiz <sup>1,\*</sup>, Luis Velázquez-Pérez <sup>2,3</sup>, Alejandro Linares-Barranco <sup>4,5,6</sup> and Roberto Pérez-Rodríguez <sup>1,2</sup>

- <sup>1</sup> CAD/CAM Study Centre, University of Holguín, Holguín 80100, Cuba; roberto.perez@uho.edu.cu
- <sup>2</sup> Cuban Academy of Sciences, Havana 10200, Cuba; velazq63@gmail.com
- <sup>3</sup> Centre for the Research and Rehabilitation of Hereditary Ataxias, Holguín 80100, Cuba
- <sup>4</sup> Robotics and Tech. of Computers Lab, University of Seville, 41012 Seville, Spain; alinares@us.es
- <sup>5</sup> Escuela Politécnica Superior (EPS), University of Seville, 41011 Seville, Spain
- <sup>6</sup> Smart Computer Systems Research and Engineering Lab (SCORE), Research Institute of Computer Engineering (I3US), University of Seville, 41012 Seville, Spain
- \* Correspondence: robbinc91@uho.edu.cu

Abstract: The human cerebellum plays an important role in coordination tasks. Diseases such as spinocerebellar ataxias tend to cause severe damage to the cerebellum, leading patients to a progressive loss of motor coordination. The detection of such damages can help specialists to approximate the state of the disease, as well as to perform statistical analysis, in order to propose treatment therapies for the patients. Manual segmentation of such patterns from magnetic resonance imaging is a very difficult and time-consuming task, and is not a viable solution if the number of images to process is relatively large. In recent years, deep learning techniques such as convolutional neural networks (CNNs or convnets) have experienced an increased development, and many researchers have used them to automatically segment medical images. In this research, we propose the use of convolutional neural networks for automatically segmenting the cerebellar fissures from brain magnetic resonance imaging. Three models are presented, based on the same CNN architecture, for obtaining three different binary masks: fissures, cerebellum with fissures, and cerebellum without fissures. The models perform well in terms of precision and efficiency. Evaluation results show that convnets can be trained for such purposes, and could be considered as additional tools in the diagnosis and characterization of neurodegenerative diseases.

**Keywords:** convolutional neural network; cerebellum segmentation; neurodegenerative disease; cerebellar fissures; magnetic resonance imaging

## 1. Introduction

The human cerebellum plays an essential role in critical tasks, like motor coordination and cognition, and is related to other functions, e.g., language and emotions [1,2]. Diseases like spinocerebellar ataxias (SCAs), multiple sclerosis (MD), or Alzheimer's disease (AD), are known to cause damage in the cerebellum, conducting patients to progressive loss in such functions and, in some cases, to premature death [3]. Cerebellar damage caused by such diseases occurs in the form of degeneration, reducing the cerebellar volume. The damage can be seen as large fissures, and grows with the progression of the disease. Knowing how to observe such fissures allows specialists to obtain some important characteristics from the patients, like volume loss related to the specific disease.

Segmentation of magnetic resonance imaging (MRI) is often performed, and clinicians make research with several patients, with the goal of learning more about the disease, and how to treat it better. However, manual segmentation of MRIs is a complex and time-consuming task, and becomes impractical as the number of images increases. For that reason, computational tools are required for performing those processes automatically.



Citation: Cabeza-Ruiz, R.; Velázquez-Pérez, L.; Linares-Barranco, A.; Pérez-Rodríguez, R. Convolutional Neural Networks for Segmenting Cerebellar Fissures from Magnetic Resonance Imaging. *Sensors* **2022**, *22*, 1345. https://doi.org/10.3390/ s22041345

Academic Editors: Qammer Hussain Abbasi and Sheryl Berlin Brahnam

Received: 9 December 2021 Accepted: 8 February 2022 Published: 10 February 2022

**Publisher's Note:** MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



**Copyright:** © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/).

Automated cerebellum processing from MRIs has been addressed by several authors, in studies mainly oriented to the delineation and volume calculation of the whole organ and its lobules [1,4–8], deep nuclei segmentation [9], and gray/white matter segmentation [10]. Diedrichsen et al. [7] proposed a probabilistic atlas of the human cerebellum, and performed automatic cerebellum parcellation by combining it with registered images. Weier et al. [8] parcellated cerebellum using patch-based label-fusion and a template library composed of manually labelled images. Romero et al. [5] proposed CERES, which is currently one stateof-the-art pipeline for cerebellar segmentation and parcellation, based on atlas templates and several registration steps for each image to be processed. Manjón and Coupé [10] proposed VolBrain as a tool for subcortical structure segmentation, based on multi-atlas label-fusion. Dolz, Desrosiers and Ben Ayed [11] used a fully convolutional neural network which has been tested in [6] for cerebellar parcellation, obtaining good results. Han et al. [1] proposed the ACAPULCO pipeline, which relies on convolutional neural networks, for performing cerebellar parcellation from MRIs. Kim et al. [9] performed deep cerebellar nuclei segmentation using a fully connected densenet. Thyreau and Taki [12] used convolutional neural networks for brain cortical tissue parcellation from an initial brain mask.

Currently, two of the top-most ranked applications on cerebellar segmentation and parcellation are CERES and ACAPULCO. CERES is based on multi-atlas segmentation, and consists of a pipeline which includes several registration stages, inhomogeneity corrections, and intensity normalizations. It has outperformed all other solutions in the study made by Carass et al. [6]. ACAPULCO is based on convolutional neural networks. The system uses a first CNN to find a bounding box of the cerebellum, and a second, deeper CNN to divide the organ into 28 regions. As reported by Han et al. [1] it surpassed an improved version of CERES in the segmentation of various cerebellar lobules.

In the last decade, convolutional neural networks [13] have experimented a rapid development, as the number of researchers using them for medical image processing grows, in systems where performance is an important factor [14–17]. Specifically, for brain MRI processing, convnets have been successfully applied in segmentation and classification tasks, predicting the stage of Alzheimer's disease [18], cerebellum [4] and brain parcellation [19], and tumor detection and segmentation [20].

Despite the excellence of the existing methods and the reported results, none of this research is oriented to correctly segment and determine all important fissures in cerebellum of patients with neurodegenerative diseases. Figure 1 shows a comparison between segmentations produced by CERES and ACAPULCO for one magnetic resonance from a SCA2 patient with severe cerebellar atrophy. It can be seen that CERES made a better recognition of increased fissures than ACAPULCO, however, some of them have been incorrectly classified as cerebellar tissue. This phenomenon must be related to the training images and labels for both methods, but it should have great impact on the calculation of volumes for the affected parts. As the fissures are classified as cerebellar tissue, the resulting volumes should be larger than the actual ones, giving an incorrect idea of the atrophy produced in the patient's cerebellum. Images were generated with ITK-Snap software [21], CERES segmentation was obtained through the web portal (https://www.volbrain.upv.es/, accessed on 5 December 2021), and ACAPULCO segmentation was obtained by using a docker container shared by the authors in the original paper [1].



**Figure 1.** Comparison between segmentations on MRI of SCA2 patient. In (**a**) the original imaging, in (**b**) segmentation produced by ACAPULCO, and in (**c**) segmentation obtained by CERES.

This article proposes the use of convolutional neural networks for segmenting the cerebellum and its fissures. The study comprises analysis over three CNN models, based in the same architecture, for obtaining binary masks of the whole cerebellum without fissures, the cerebellum with its fissures, and the fissures mask itself. Our analysis demonstrates the feasibility of convnets for such tasks. We think that the existence of tools for recognizing the cerebellar fissures from brain MRIs of patients with cerebellar disorders should improve the automated volume estimation currently applied by the aforementioned research, bringing the calculations closer to the real values. Produced segmentations might give an idea of the total volume loss in patients, as well as the stage and progression of the disease itself. As part of the performed analysis, our system is compared with ACAPULCO and CERES, demonstrating an improvement in the segmentation of cerebellar tissue with a correct estimate of the fissures. Additionally, a simple procedure is proposed to help in the construction of similar datasets, relying on an existing mask of the structure to be segmented.

#### 2. Materials and Methods

## 2.1. Models and Implementation Details

Our three models are built upon the same U-Net architecture. The only differences between models are the labels used for training. Table 1 shows the difference between the three models. The proposed structure is based on U-Net [22], a well-known CNN architecture which takes advantage of feature maps created in previous steps. This characteristic gives the network the ability of processing more complex images while reducing the computational requirements. The system consists of four down- and up-sample steps, composed of inception modules [23] and instance normalization layers, and two chained inception modules as a bottleneck. Each inception module is composed of four convolutional layers, one max pooling operation, and a final concatenation. After each inception module, an instance normalization [1,24] layer processes the produced features. All the activation layers (one per convolution) are Rectified Linear Units (ReLU) [25]. Figure 2 shows the main architecture. The total number of inception modules used was 10, and the number of filters passed to them, in sequence, were 16, 16, 32, 64, and 128 for the contracting path. For the decoding section, the number of parameters were 128, 64, 32, 16, 16. Note that, for each inception module, the output size is four times the input size; e.g., a module with an input of size 128 will return an output with 512 feature maps. The final layer of the architecture consists of a convolutional layer with one single filter, returning the segmented mask from the input.

Table 1. Differences between the three used models.

Model Name	Desired Output	Reference Figure
M1	Binary mask with only cerebellar fissures	Figure 3g
M2	Binary mask of the cerebellum with its fissures	Figure 3h
M3	Binary mask of the cerebellum without fissures	Figure 3f

Implementation was made with Keras [26] and TensorFlow backend [27], using the Python 3.7 programming language, and the training was done on a 16 GB Tesla P100-SXM2 GPU, available through a Jupyter notebook on Google Colab (https://colab.research.google.com/, accessed on 5 December 2021). The used optimizer was Adam [28], with its default values. To avoid overfitting, a dropout of 0.3 was established after the last convolutional layer of each model. Rather than preparing a single model for predicting the three desired features, we trained separated ones for simplicity, making our task a single label segmentation problem. Finally, image cropping was done for reducing computational cost of algorithms. All images were cropped to a volume containing only the cerebellum.



Figure 2. Architecture diagram (a), and inception module pipeline (b).

C: Concatenation





### 2.2. Data Preparation and Dataset Construction

The used dataset consists of 24 magnetic resonances retrieved from the Cuban Neurosciences Center. The images belong to 15 patients, divided into three categories: five healthy controls, five presymptomatic carriers, and five patients diagnosed with spinocerebellar ataxia type 2 (SCA2). Presymptomatic carriers in this research are treated as patients, as it is well known that cerebellar atrophy due to SCA2 may be present long before the disease onset [29–31].

Building a manually labelled dataset from 3D images is a very difficult task. For this reason, we created a simple procedure for the preparation of our dataset. For each MRI, the following steps were applied:

- 1. Obtain a cerebellar mask, using any existent technique. See Figure 3b.
- 2. Bias Field Correction (BFC) for reducing intensity inhomogeneities. The algorithm used in this research was the N4 method [32].

- 3. Image registration to the 1 mm isotropic ICBM 2009c template [33] in MNI space. See Figure 3c.
- 4. Obtain a contrast-enhanced image (Figure 3d).
- 5. Binarize equalized image using any existent technique (Figure 3e).
- 6. Build a mask containing the cerebellar segmentation obtained in step 1 (output 1). See Figure 3f.
- 7. Build a feature map containing cerebellar fissures, by applying binary xor operation to outputs from steps 5 and 6 (output 2, Figure 3g,i).
- 8. Build a feature map containing the cerebellar tissue, with all its fissures, by subtracting output 1 from output 2 (output 3, Figure 3h,i).
- 9. Imaging cropping for reducing computational cost.

For the original cerebellum mask, any available tool can be used, but we highly recommend using ACAPULCO [1] or CERES [5], which are state-of-the-art pipelines for cerebellum parcellation. For this study, ACAPULCO was used, accessed through a docker image shared by the authors in the original paper. The segmented masks have been manually corrected, in order to eliminate any errors than can occur. Manual correction was done with the software ITK-Snap [21].

N4 bias field correction and rigid registration were performed with the ANTS suit [34], available at http://stnava.github.io/ANTs/ (accessed on 5 December 2021).

Enhanced-contrast images were obtained by following a pipeline of intensity normalization (Equation (1)), rescaling to range [1; 255], and histogram equalization. This contrast-enhanced image will serve as the input for the three segmentation models.

$$i = \frac{i - mean(i)}{std(i)} \tag{1}$$

To obtain the binary maps, we computed the Otsu threshold [35], and kept only those voxels with an intensity higher than the calculated threshold. If the original imaging contains a high contrast, some errors may be carried through this procedure, obtaining an incorrect binary map (i.e., several parts of the cerebellar tissue can be removed). For that reason, the binary images must be visually inspected and corrected.

For creating the mask parting from the original cerebellum segmentation, we used the Morphological Snakes algorithm [36]. We applied this step as it improves border smoothness, and may be used to regularize segmentations created/corrected by different raters. The original implementation can be found at https://github.com/pmneila/morphsnakes (accessed on 20 November 2021).

Steps 6, 7 and 8 from the algorithm (outputs 1, 2 and 3), are used as the output maps for the system training. They correspond to the whole cerebellar mask, cerebellar fissures, and cerebellum tissue with its fissures, respectively. The last step is optional, but recommendable if low computational resources are available.

By following the procedure, the construction of an entire dataset may be significantly reduced, since user interaction is limited only to correcting errors, which in some cases are minimal.

#### 2.3. Analysis Description

From the 24 images composing our dataset, 17 were used for training, two for validation, and five for testing purposes. To avoid overfitting, data augmentation was applied to those images on the train/validation partition. The images were augmented using combinations of rotations in the range  $[-10^\circ, 10^\circ]$  and shifts on random axes, in the range [-10, 10]. For every training/validation image, 40 new augmented images were created. The three models were trained during 120 epochs, and evaluations were made on the five unseen images.

For testing the robustness of trained models, we tested on subsets of other three datasets:

1. Ten magnetic resonances from the Hammers 2017 dataset (Hammers) [37]. The dataset contains 30 MRIs from healthy subjects, manually segmented by experts into

95 regions [38–40]. From the 95 labels, we used only 17 and 18, corresponding to left and right cerebellum, respectively.

- 2. Ten magnetic resonances from the Dallas Lifespan Brain Study dataset (DLBS) [41–43]. The dataset contains 315 MRIs of healthy people, some of them are healthy carriers of APOE gene. The initial cerebellar maps for this dataset were obtained by combining the labels from the output of ACAPULCO.
- 3. Seven magnetic resonances obtained from BrainWeb [44,45]. The site allows the construction of simulated MRIs from healthy people and MS patients, based on templates. The images used in this study were constructed simulating mild, moderate and severe MS lesions (http://www.bic.mni.mcgill.ca/brainweb/, accessed on 5 December 2021).

As a preprocessing stage, steps 2–4 and 9 from the described procedure were applied. Therefore, our preprocess comprises bias field correction, registration to MNI space, contrast enhancement, and image cropping.

For the model predicting cerebellar fissures (M1), no postprocessing technique was applied. The evaluations were carried on the untouched outputs. In the case of the models responsible for segmenting cerebellum with and without fissures (M2 and M3, respectively), a selection of longest connected component was done, classifying only the biggest structure as cerebellar tissue.

Finally, for evaluating the impact of the current research, segmentations of model M2 were compared with the results of ACAPULCO and CERES.

#### 2.4. Evaluation Metrics

Dice Score (DSC, F1-score), overlap coefficient (OC), specificity (SP, True negative rate, TNR), sensitivity (SN, True positive rate, TPR), and area under the ROI curve (AUC), are used as the evaluation metrics for the three models. *DSC* allows comparison of two volumes of the same dimensions through Equation (2) [46]:

$$DSC = \frac{2 \times \sum_{i}^{N} p_{i}g_{i}}{\sum_{i}^{N} p_{i}^{2} + \sum_{i}^{N} g_{i}^{2}}$$
(2)

where *N* represents the total number of voxels in one image, *p* belongs to the prediction volume, and *g* belongs to the ground truth volume. *SP* allows to quantify the proportion of those voxels that do not belong to the ground truth mask, and can be obtained with Equation (3) [47]:

$$SP = \frac{TN}{FP + TN} \tag{3}$$

where *TP* and *TN* are the number of voxels which have been correctly recognized as part of the mask and part of the background, respectively, and *FP*, *FN* correspond to those incorrectly identified as mask and background, respectively. *SN* allows to quantify the proportion of voxels that belong to the ground truth mask, and can be obtained as in Equation (4) [48]:

$$SN = \frac{TP}{TP + FN} \tag{4}$$

*OC* allows to calculate how close a finite set is from the other, in terms of overlapping [49]. A perfect overlap would have a value of 1, and two images without any overlapping should obtain 0 score. It can be calculated with Equation (5).

$$OC = \frac{\sum_{i}^{N} p_{i}g_{i}}{\min\left(\sum_{i}^{N} p_{i}, \sum_{i}^{N} g_{i}\right)}$$
(5)

*AUC* is used as a measurement of a classifier's performance, being more complete than the usual overall accuracy [48,50], and can be obtained with Equation (6).

$$AUC = 1 - \frac{1}{2} \left( \frac{FP}{FP + TN} + \frac{FN}{FN + TP} \right)$$
(6)

The measures were selected based on the guidelines proposed by Taha and Hanbury [48], attending to the following properties and requirements on 3D medical image segmentation: outliers exist (some outsider voxels might be incorrectly classified as ground truth), complex boundary (cerebellar fissures present very complex shapes and boundaries), and contour is important.

## 3. Results

This section exposes the result of evaluations performed to the three models. Table 2 allows to analyze the mean scores for the three models in the whole test set. It can be seen that the worst results were obtained by model M1. Models M2 and M3 achieved very high scores in evaluations.

	M1	M2	M3
DSC	0.761	0.965	0.959
OC	0.826	0.982	0.978
SP	0.997	0.992	0.991
SN	0.749	0.977	0.969
AUC	0.871	0.985	0.980

Table 2. Mean scores for models M1, M2 and M3 in the whole set of test images.

For an easy understanding and analysis, we decided to divide into six subsections. The first four subsections correspond to results on each dataset used, the fifth presents our time analysis, and the last subsection corresponds to the comparison with segmentations produced by ACAPULCO and CERES.

#### 3.1. Results for Our Dataset

The three models (see Table 1) were tested on five unseen magnetic resonance images. The test subset contained one healthy control (subject 1), two presymptomatic carriers (subjects 2 and 4), and two SCA2 patients (subjects 3 and 5). Figure 4 shows a comparison between the original masks and the segmentations produced by M1, M2 and M3. It can be appreciated the similarity between original and segmented images. Some errors remain, mainly in the contour of segmented masks; those errors will be covered in next investigations. Table 3 shows the result of the evaluations on model M1, segmenting cerebellar fissures only.

Table 3. Evaluation results for model M1 in our dataset.

	Subject 1	Subject 2	Subject 3	Subject 4	Subject 5
DSC	0.803	0.895	0.864	0.834	0.875
OC	0.882	0.914	0.924	0.895	0.876
SP	0.998	0.998	0.997	0.999	0.996
SN	0.737	0.877	0.924	0.780	0.875
AUC	0.868	0.938	0.960	0.889	0.935



**Figure 4.** Masks and predictions for an MRI belonging to one of the SCA2 patients in the test subset. The top row shows the original masks, obtained with the procedure described in Section 2.2, and the bottom row displays the segmentations produced by our models. Cerebellar fissures in (**a**,**d**), cerebellum tissue with fissures in (**b**,**e**), and whole cerebellum without any fissure in (**c**,**f**).

Produced segmentations have relatively good scores. Mean DSC and OC are 0.854 and 0.898, respectively. All SP are above 0.99, which means an optimal recognition of background voxels. Low SN values represent some errors in the voxels belonging to cerebellar fissures, mainly in the MRI belonging to the healthy control (0.73, the minimum SN value). It seems that the best behavior was obtained for subject 3, one of the SCA2 patients in our dataset. Note that segmenting cerebellar fissures is a difficult task and, as such, characteristics change greatly between different people. Furthermore, no postprocessing was applied to the results of model M1. Figure 4d shows an example of the outputs produced by our model, compared against the ground truth mask in Figure 4a.

Table 4 shows the evaluation results for model M2 (segmentation of cerebellum tissue with its fissures). As observed, results for this model were much better than the previous one. This is a logical result, considering that segmenting a single, larger structure, which is always located in the same place on MRI, should be easier than segmenting smaller regions with many position changes. The best scores were achieved for the subject 4 MRI, producing better segmentations. The mean values for DSC and OC are 0.973 and 0.987, respectively. SP, SN and AUC are all above 0.98, which means a good background and foreground voxel classification. Figure 4e displays an example output from this model.

Table 4. Evaluation results for cerebellar tissue with fissures (model M2) in our dataset.

	Subject 1	Subject 2	Subject 3	Subject 4	Subject 5
DSC	0.976	0.977	0.970	0.981	0.965
OC	0.991	0.984	0.992	0.992	0.977
SP	0.993	0.995	0.995	0.995	0.994
SN	0.991	0.984	0.992	0.992	0.977
AUC	0.992	0.989	0.993	0.994	0.986

Table 5 shows the results for the model segmenting the whole cerebellum (M3). As in Table 4, all scores are above 0.95, which gives the idea of a high precision in the segmentation results. Mean DSC and OC are 0.969 and 0.982, respectively. As in evaluation for model M2, SP, SN and AUC are above 0.98, which means a high-quality segmentation. In a general

way, the segmentations obtained by models M1, M2 and M3 have a good quality. Models M2 and M3 obtained better scores than M1.

	Subject 1	Subject 2	Subject 3	Subject 4	Subject 5
DSC	0.976	0.975	0.954	0.980	0.963
OC	0.984	0.980	0.987	0.986	0.976
SP	0.994	0.994	0.991	0.995	0.991
SN	0.984	0.980	0.987	0.986	0.976
AUC	0.989	0.987	0.989	0.991	0.984

Table 5. Evaluation results for whole cerebellum segmentation without fissures (model M3).

#### 3.2. Results on Hammers Dataset

The three models were evaluated using a subset of the Hammers 2017 dataset. For this evaluation, we used the first 10 images. The images in the dataset are named from a01 to a30; we used images from a01 to a10. The images were processed with the same procedure described in Section 2.2, but manual correction of generated binary maps was not performed, as we wanted to check the possibility of automatically creating a new dataset. As a cerebellar map for the initial step, the original segmentations were conveniently corrected. Therefore, the rest of the dataset preparation was done in a fully automatic manner.

Evaluation results for model M1 on this dataset can be observed in Table A1. This time the segmentations produced were less precise. The mean DSC obtained was 0.755, while the mean overlap coefficient was 0.826. We believe that this result presents a direct relation with the fact that binary maps for each MRI were not manually corrected. A revision of those features should improve the segmentation, and it will be covered in future investigations. As in evaluation with images from our dataset, high SP and low SN and AUC were obtained, meaning that the model had some trouble identifying the tissue belonging to cerebellar fissures.

Results for model M2 are presented in Table A2. It may be observed that the scores obtained are competitive with those obtained in our dataset, as mean DSC and OC are 0.951 and 0.983, respectively. The scores in the segmentations were quite high and close to each other. Minimum DSC and OC are 0.945 and 0.975, respectively, which indicates very realistic segmentations as in previous evaluation of model M2. SP, SN and AUC are above 0.98, which demonstrates a high-quality segmentation on cerebellar tissue with fissures.

Finally, Table A3 shows the evaluations for model M3. As in Table A2, the results are very promising, giving mean DSC and OC with values of 0.947 and 0.976 respectively. The rest of calculated scores, all above 0.98, also give the notion of very good segmentations.

As in the previous case, the worst results were achieved for the model M1, in the segmentation of cerebellar fissures.

#### 3.3. Results on DLBS Dataset

As a third set of MRIs for evaluating the methods, 10 images from the Dallas Lifespan Brain Study were used. For our purposes, we selected 10 MRIs belonging to older APOE- $\epsilon$ 4 gene carriers.

Results of the evaluation on segmentations produced by model M1 can be observed in Table A4. As in the previous discussion on cerebellar fissure segmentation (Section 3.2), the DSCs are between 0.71 and 0.76. Mean DSC and OC are 0.745 and 0.799, respectively. The rest of the scores remain similar to analysis performed in our dataset and Hammers: low SN, which means errors in the precise classification of the fissures.

Evaluations for model M2 are presented in Table A5, and some improvement can be seen with respect to evaluations on Hammers dataset. Mean values of DSC and OC are 0.967 and 0.975, respectively, for a very good segmentation of cerebellum with its fissures. As expected, values of SN, SP and AUC are above 0.96.

Scores for model M3 are shown in Table A6. Again, the scores are quite good, with mean DSC and OC of 0.963 and 0.975, respectively.

#### 3.4. Results on Dataset from BrainWeb

As commented in Section 2.3, seven MRIs were generated through the BrainWeb web portal, simulating multiple sclerosis. The images were created with variable parameters such as rotation, noise level, and MS severity.

Table A7 shows the scores for model M1, presenting the same situation as previous evaluations. Mean DSC and OC obtained were 0.728 and 0.81, respectively, and the sensitivity was severely affected. Table A8 shows the evaluations for model M2, with another surprising result. Achieved scores are all above 0.97, and the mean DSC and OC were 0.973 and 0.988, respectively. The same occurs with the scores for model M3 (Table A9), with 0.964 and 0.982 as mean DSC and OC, respectively. Despite the high scores achieved in this dataset, we believe that further analysis should be performed, as all images are created from two original templates: one for severe MS, and one for mild and moderate MS.

#### 3.5. *Time Analysis*

An analysis was performed to evaluate the time our architecture takes to segment new images. All experiments were carried out on a Lenovo computer, equipped with an Intel Core i3-8145U processor, and 8 GB RAM. Table 6 shows the mean times for models M1, M2 and M3, as well as preprocessing and load times.

**Table 6.** Mean times for loading, preprocessing, and segmentation processes. From left to right column are presented: dataset names, load times, preprocessing times, and segmentation time for M1, M2 and M3. The time is expressed in seconds (s).

	Load	Preprocessing		Segmentation	
			M1	M2	M3
Ours	0.06	227.57	53.40	51.44	53.00
Hammers	0.06	263.77	49.89	50.24	50.42
DLBS	0.07	206.73	55.85	60.26	56.90
Brainweb	0.04	180.06	55.08	54.75	61.34

The load times for each dataset are small, ranging from 0.04 to 0.07 s. Preprocessing times ranged from 177.95 to 265.75 s. This is the most time-consumer phase in our pipeline, as it involves bias field correction, image registration, normalization, histogram equalization, and cropping.

For model M1, the best segmentation times were obtained over Hammers subset, with a mean processing time of 49.89 s per image. The global mean time of this model was 53.43 s. Segmentation times for M2 were slightly higher, averaging 54.55 s. The best results were also obtained for Hammers subset, with a mean time of 50.21 s. Finally, results of time analysis for model M3 were better on Hammers subset, with a mean of 50.42 s. The mean time for all the images was 55.23 s.

In a general manner, the total time needed for processing an MRI is the sum of loading, preprocessing and segmentation tasks. Since our three models work with the same cropped portion of the preprocessed MRI, the load and preprocessing operations are performed only once on each image. The total time for every image is then the sum of loading, preprocessing, and segmentations for M1, M2 and M3. The total mean time of processing for our models was 385.26 s (about six minutes for each image). Considering that manual segmentation can take several hours for each MRI, we believe that it is a remarkable advance in such task. However, finding a faster BFC/registration technique should greatly improve this result, as preprocessing is the most time-consuming phase of our process.

#### 3.6. Comparison with Other Methods

For stablishing an improvement on cerebellar tissue segmentation with special attention to fissures, comparisons were made with ACAPULCO and CERES. We compared the results of our model M2 with the segmentations produced by these two tools. Segmentations from ACAPULCO were obtained using the docker image that the authors made available in the original paper [1], and segmentations from CERES were obtained through a web portal available to the public, also shared by the authors on their paper [6].

As these are tools for cerebellar parcellation, a binary mask of the whole cerebellum was obtained for each segmentation, constructed by combining all the labels in the segmented images. The evaluations were performed on the five test magnetic resonances of our cohort, and the 10 images from the DLBS dataset. The measures used for the comparison were dice score (DSC), overlap coefficient (OC), and specificity (SP). Table 7 shows the comparison of DSC in our images.

Table 7. DSC comparison between our M2 model, ACAPULCO and CERES.

	S.1	S.2	S.3	<b>S.4</b>	S.5
M2	0.976	0.977	0.970	0.981	0.965
ACAPULCO CERES	0.910 0.935	0.905 0.927	0.894 0.911	0.909 0.924	0.900 0.926

As can be seen, our model M2 achieved higher DSC than both methods. Mean DSC were 0.973, 0.903 and 0.924 for M2, Acapulco and CERES, respectively. CERES performed better than ACAPULCO in the segmentation, but in general both methods only identify the largest fissures, and a substantial part of the small fissures is misclassified. We think that this event is related with the segmentations used in both methods as a training/knowledge base, since both methods were used without any modification. The best behavior for both methods was on segmenting the first resonance image, corresponding to a healthy control.

Figure 5 presents an example of segmentation produced by the three models for a subject in our dataset. As the figure shows, ACAPULCO (Figure 5d) only detected parts of the biggest fissures, while the smaller ones are classified as cerebellar tissue. CERES (Figure 5c) recognized fissures better than ACAPULCO, but some of them are also misclassified. Furthermore, some irregularities are present in the front of the cerebellum, leaving some holes in the mask produced by CERES. Segmentations obtained by model M2 (Figure 5b) are very close to the real ones, correctly recognizing most of the fissures.



**Figure 5.** Example of segmentations produced by the approaches for a sample image from our dataset. Original mask (**a**), followed by segmentation produced by M2 (**b**), CERES (**c**) and ACAPULCO (**d**).

Table 8 shows a comparison for the OC scores achieved by the three methods. Mean scores for M2, ACAPULCO and CERES were 0.987, 0.994 and 0.988, respectively. Results are very close between approaches, but in general terms, ACAPULCO achieved higher

OC scores. This is a logical conclusion, as ACAPULCO tends to misclassify fissures. As a result, the original masks are almost entirely contained in segmentations produced by ACAPULCO. The same happens with segmentations produced by CERES.

Table 8. OC comparison between our M2 model, ACAPULCO and CERES.

	<b>S.</b> 1	S.2	S.3	<b>S.4</b>	S.5
M2	0.991	0.984	0.992	0.992	0.977
ACAPULCO	0.999	0.990	0.990	0.996	0.999
CERES	0.991	0.989	0.981	0.991	0.988

In Table 9 are included the results of the SP analysis for the three models. It can be appreciated that M2 model achieved the higher scores, followed by CERES, and finally ACAPULCO. The mean values are 0.994, 0.971 and 0.964, respectively.

Table 9. SP comparison between our M2 model, ACAPULCO and CERES.

	S.1	S.2	<b>S.</b> 3	<b>S.4</b>	<b>S.</b> 5
M2	0.993	0.995	0.995	0.995	0.994
ACAPULCO	0.965	0.967	0.966	0.971	0.953
CERES	0.973	0.973	0.980	0.977	0.955

Tables 7–9 clearly indicate that model M2 produced better segmentations than ACA-PULCO and CERES. Higher DSC and SP combined with lower OC, means that our approach correctly identifies the most of fissures on the cerebellum.

Table 10 shows the DSC comparison for the DLBS subset. The three approaches obtained close dice scores, with a mean value of 0.967, 0.931 and 0.945, respectively. The 10 images for this comparison belong to healthy controls, which means less fissures, so the scores for ACAPULCO and CERES were increased.

Subject No.	M2	ACAPULCO	CERES
1	0.969	0.926	0.945
2	0.965	0.939	0.950
3	0.960	0.938	0.941
4	0.966	0.936	0.950
5	0.978	0.922	0.953
6	0.962	0.930	0.946
7	0.971	0.937	0.954
8	0.960	0.911	0.921
9	0.967	0.935	0.944
10	0.974	0.936	0.954

Table 10. DSC comparison between the approaches, in DLBS subset.

Figure 6 shows a case of the segmentations produced for this second dataset. As in the previous example, the best segmentations were produced by model M2 (Figure 6b). There are some irregularities on borders, which we think can be corrected by applying some postprocessing technique (rather than longest connected component, which is the only postprocessing we currently apply on segmentations). In this example, ACAPULCO was capable of segmenting some fissures better than CERES (Figure 6c,d).



**Figure 6.** Segmentations produced by the three approaches for a sample image from the DLBS dataset. Original mask (**a**), followed by segmentation produced by M2 (**b**), CERES (**c**) and ACAPULCO (**d**).

Table 11 shows a comparison for the OC scores achieved in the DLBS dataset. Higher values were obtained by ACAPULCO, followed by CERES, and finally M2. The mean values were 0.998, 0.980 and 0.975, respectively. This represents the same phenomena as Table 8: segmentations produced by ACAPULCO and CERES include the original masks because of the problems when recognizing cerebellar fissures, resulting in elevated OC.

Subject No.	M2	ACAPULCO	CERES
1	0.970	0.996	0.983
2	0.974	0.999	0.975
3	0.971	0.993	0.982
4	0.969	0.998	0.984
5	0.987	0.995	0.982
6	0.981	0.994	0.975
7	0.977	0.998	0.981
8	0.964	0.999	0.980
9	0.975	0.998	0.985
10	0.982	0.995	0.987

Table 11. OC comparison between the approaches, in DLBS subset.

In Table 12 are included the SP scores achieved in the DLBS dataset. As in Table 9, model M2 presented the best behavior, which means that the classification of background voxels was better. Mean scores were 0.993, 0.970 and 0.977, respectively.

Results for this dataset were similar to those obtained in our five test MRIs. The model M2 presented higher DSC and SP, and lower OC than ACAPULCO and CERES. This means that M2 identifies cerebellar fissures better than the other approaches.

Subject No.	M2	ACAPULCO	CERES
1	0.995	0.969	0.978
2	0.992	0.970	0.979
3	0.991	0.972	0.971
4	0.994	0.973	0.975
5	0.995	0.972	0.976
6	0.992	0.973	0.982
7	0.996	0.969	0.983
8	0.993	0.973	0.982
9	0.993	0.970	0.980
10	0.995	0.961	0.968

Table 12. SP comparison between the approaches, in DLBS subset.

## 4. Discussion

Three models have been proposed for segmentation tasks on human cerebellum from magnetic resonance imaging: the first model (M1) segments cerebellar fissures, the second (M2) segments the cerebellum with the most of its fissures, and the third (M3) obtains the whole cerebellum without fissures. The three models were tested on a total of 32 MRIs, composed of 21 healthy controls, four SCA2 patients, and seven MRIs with multiple sclerosis.

In the case of cerebellar fissure segmentation (model M1), the best DSC obtained was 0.895 in our dataset, and the worst case presented a score of 0.707 in the Hammers dataset. We observed that the best results were achieved on the MRIs of SCA2 patients with severe atrophy, indicating that the model might not be capable of correctly find the fissures in healthy people. More tests need to be done to verify if the proposed U-Net architecture can be modified in any way, or more augmentation techniques/training epochs are necessary for improving segmentation results. A postprocessing stage could be added too, increasing the possibility of producing better segmentations. Despite the low results (minimum DSC = 0.707), we have not seen other investigations dedicated to specifically segmenting and quantifying the cerebellar fissures, and we consider this to be a good starting point for future researches on this kind of study.

The model for segmentation of the cerebellum with its fissures (M2) presented very precise results, with DSC ranging from 0.946 to 0.981 among the four subsets used for testing. This result implies that volumetric calculations might be performed in the human cerebellum, with a higher grade of precision. We think that the model could be integrated in some greater pipeline for characterizing neurodegenerative diseases. The model performed well on MRIs of healthy people and patients, making it suitable for the task.

The model for segmenting the whole cerebellum (M3) also obtained very good results, with dice scores ranging from 0.946 to 0.980, demonstrating very precise segmentations in the 32 test images. Obtained scores highly reduce the chance of overfitting during training process, and allow the affirmation that models have sufficient generalization for working with images from different origins.

Segmentations produced by the models M2 and M3 could be used to improve current cerebellar segmentation/parcellation methods, obtaining more accurate volumetric estimations on patients with cerebellar degeneration caused by SCAs or other neurodegenerative diseases. Furthermore, the procedure proposed in Section 2.2 for the creation of our dataset can be adapted to any research with the same interests, always providing the correct mask at the beginning.

The three models present good performance in terms of efficiency, as total time needed when processing a new image is about six minutes (less than three minutes if the loading and preprocessing stages are not considered).

The model M2 was compared with two state-of-the-art approaches, obtaining better scores in all cases. The comparison was only made with 15 resonance images, and deeper comparisons will be performed in future researches.

Based on analysis results, we may conclude that convolutional neural networks can be applied on segmenting complicated features from brain magnetic resonances. Not only well-defined organs such as cerebellum, but also fissures can be obtained, always providing the correct dataset and adequate training. Our model trained for cerebellar fissures did not obtain such high scores as expected, but we think that fissures can be obtained by combining outputs of models M2 and M3.

The outcomes of this study should provide a comprehensive set of tools to specialists in neurodegenerative diseases. Digital tools can be generated and incorporated into existing visualization applications, increasing the speed and precision in diagnosis and characterization.

For more in-depth evaluation of the proposed method, larger datasets must be tried, as well as other CNN architectures, with different grades of complexity, and a higher number of features. In future research we aim to integrate the models described here into more complex architectures and pipelines, such as cerebellum parcellation.

#### 5. Conclusions

This article has evaluated the possibility of applying convolutional neural networks for automatically segmenting the cerebellum and its fissures from brain magnetic resonance imaging. Three models, built upon the same U-Net based architecture, have been proposed for segmenting cerebellar fissures, cerebellum with all fissures, and cerebellum without any fissures. Analysis has been performed on 32 MRIs, including healthy controls, presymptomatic carriers, SCA2 patients, and multiple sclerosis patients. The best dice scores achieved were 0.895, 0.981 and 0.98 on each task, respectively. The proposed architecture is highly efficient, since segmentations can be carried on in less than a minute after preprocessing. Analysis results indicate that convnets are capable of segmenting the human cerebellum with high precision. The model prepared for segmenting the cerebellum with its fissures was compared with two existent methods, achieving better results than both in all tests. The images resulting from the segmentations could be incorporated into higher pipelines, dedicated to diagnosing or characterizing any disease that affects the cerebellum, and could help to improve the estimation of volume loss and general damage to the cerebellum. Furthermore, a simple method has been proposed for facilitating the construction of similar datasets. The use of the procedure should help to quickly construct datasets, saving time and efforts.

Author Contributions: Conceptualization, L.V.-P., R.P.-R. and R.C.-R.; methodology, R.C.-R.; software, R.C.-R.; validation, R.C.-R., L.V.-P., R.P.-R. and A.L.-B.; formal analysis, L.V.-P. and R.P.-R.; investigation, R.C.-R.; resources, L.V.-P.; data curation, R.C.-R.; writing—original draft preparation, R.C.-R.; writing—review and editing, L.V.-P., R.P.-R. and A.L.-B.; visualization, R.C.-R.; supervision, L.V.-P., R.P.-R. and A.L.-B. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

**Data Availability Statement:** At the time of writing this paper, the original images are being uploaded to https://github.com/robbinc91/cerebellar\_fissures\_segmentation\_cnn (accessed on 8 December 2021). The computer codes for creating the dataset are also being shared, allowing other researchers to replicate our study. The rest of datasets used in this research are publicly available on the internet. The hammers 2017 dataset can be accessed from http://brain-development.org/ (accessed on 5 December 2021), simulated multiple sclerosis images can be accessed from http://www.bic.mni.mcgill.ca/brainweb/ (accessed on 5 December 2021), and DLBS dataset may be obtained from https://fcon\_1000.projects.nitrc.org/indi/retro/dlbs.html (accessed on 5 December 2021).

Conflicts of Interest: The authors declare no conflict of interest.

# Appendix A

This appendix contains the tables for the evaluation results on the 10 first images from Hammers, DLBS and BrainWeb datasets.

Subject No.	DSC	OC	SP	SN	AUC
1	0.740	0.908	0.999	0.624	0.812
2	0.752	0.864	0.998	0.665	0.832
3	0.816	0.828	0.998	0.805	0.901
4	0.789	0.828	0.998	0.753	0.875
5	0.726	0.729	0.996	0.722	0.859
6	0.838	0.855	0.997	0.855	0.926
7	0.724	0.773	0.998	0.773	0.886
8	0.735	0.799	0.996	0.799	0.897
9	0.732	0.847	0.998	0.645	0.821
10	0.707	0.833	0.998	0.614	0.806

 Table A1. Evaluation results for cerebellar fissures (model M1) on Hammers subset.

Table A2. Evaluation results for cerebellar tissue with fissures (model M2) on Hammers subset.

Subject No.	DSC	OC	SP	SN	AUC
1	0.945	0.986	0.988	0.986	0.987
2	0.966	0.976	0.993	0.976	0.985
3	0.945	0.990	0.986	0.990	0.988
4	0.954	0.982	0.988	0.982	0.985
5	0.952	0.981	0.987	0.981	0.984
6	0.947	0.989	0.984	0.989	0.987
7	0.949	0.992	0.986	0.992	0.989
8	0.953	0.975	0.986	0.975	0.980
9	0.951	0.988	0.988	0.988	0.988
10	0.950	0.976	0.987	0.976	0.982

**Table A3.** Evaluation results for whole cerebellum segmentation, without fissures (model M3) on Hammers subset.

Subject No.	DSC	OC	SP	SN	AUC
1	0.950	0.973	0.990	0.973	0.981
2	0.955	0.958	0.992	0.958	0.975
3	0.938	0.985	0.983	0.985	0.984
4	0.949	0.978	0.986	0.978	0.982
5	0.944	0.972	0.984	0.972	0.978
6	0.945	0.982	0.983	0.982	0.982
7	0.943	0.992	0.984	0.992	0.988
8	0.953	0.977	0.985	0.977	0.981
9	0.950	0.979	0.988	0.979	0.983
10	0.946	0.965	0.987	0.965	0.976

Subject No.	DSC	OC	SP	SN	AUC
1	0.776	0.813	0.997	0.813	0.905
2	0.738	0.833	0.997	0.833	0.915
3	0.730	0.858	0.997	0.858	0.927
4	0.723	0.724	0.997	0.723	0.860
5	0.720	0.794	0.998	0.658	0.828
6	0.769	0.776	0.998	0.763	0.880
7	0.738	0.752	0.997	0.724	0.861
8	0.723	0.875	0.998	0.616	0.807
9	0.719	0.754	0.997	0.664	0.875
10	0.769	0.820	0.999	0.725	0.862

Table A4. Evaluation results for cerebellar fissures (model M1) on DLBS dataset.

Table A5. Evaluation results for cerebellar tissue with fissures (model M2) on DLBS dataset.

Subject No.	DSC	OC	SP	SN	AUC
1	0.969	0.970	0.995	0.970	0.983
2	0.965	0.974	0.992	0.974	0.983
3	0.960	0.971	0.991	0.971	0.981
4	0.966	0.969	0.994	0.969	0.982
5	0.978	0.987	0.995	0.987	0.991
6	0.962	0.981	0.992	0.981	0.987
7	0.971	0.977	0.996	0.966	0.981
8	0.960	0.964	0.993	0.964	0.978
9	0.967	0.975	0.993	0.975	0.984
10	0.974	0.982	0.995	0.982	0.989

**Table A6.** Evaluation results for whole cerebellum segmentation, without fissures (model M3) onDLBS dataset.

Subject No.	DSC	OC	SP	SN	AUC
1	0.968	0.978	0.993	0.978	0.985
2	0.965	0.980	0.991	0.980	0.985
3	0.964	0.987	0.990	0.987	0.988
4	0.963	0.989	0.993	0.969	0.981
5	0.963	0.963	0.994	0.963	0.979
6	0.959	0.978	0.990	0.978	0.984
7	0.969	0.969	0.994	0.969	0.981
8	0.948	0.961	0.993	0.935	0.964
9	0.964	0.973	0.991	0.973	0.982
10	0.968	0.972	0.995	0.972	0.983

Table A7. Evaluation results for cerebellar fissures (model M1) on BrainWeb dataset.

Subject No.	DSC	OC	SP	SN	AUC
1	0.722	0.729	0.993	0.714	0.854
2	0.711	0.932	0.993	0.691	0.842
3	0.715	0.724	0.993	0.706	0.849
4	0.722	0.938	0.993	0.707	0.850
5	0.739	0.781	0.994	0.701	0.847
6	0.754	0.801	0.994	0.713	0.853
7	0.738	0.767	0.993	0.912	0.852

Subject No.	DSC	OC	SP	SN	AUC
1	0.973	0.986	0.996	0.961	0.979
2	0.972	0.981	0.995	0.964	0.979
3	0.973	0.985	0.996	0.962	0.979
4	0.973	0.984	0.996	0.962	0.979
5	0.974	0.980	0.995	0.969	0.982
6	0.974	0.989	0.995	0.970	0.982
7	0.974	0.982	0.995	0.966	0.981

Table A8. Evaluation results for cerebellar tissue with fissures (model M2) on BrainWeb dataset.

**Table A9.** Evaluation results for whole cerebellum segmentation, without fissures (model M3) on BrainWeb dataset.

Subject No.	DSC	OC	SP	SN	AUC
1	0.965	0.983	0.995	0.949	0.972
2	0.964	0.982	0.995	0.946	0.970
3	0.965	0.982	0.995	0.948	0.971
4	0.965	0.983	0.995	0.948	0.971
5	0.963	0.982	0.995	0.944	0.969
6	0.963	0.983	0.995	0.944	0.970
7	0.963	0.981	0.995	0.945	0.970

## References

- Han, S.; Carass, A.; He, Y.; Prince, J.L. Automatic Cerebellum Anatomical Parcellation using U-Net with Locally Constrained Optimization. *IEEE Trans. Med. Imaging* 2020, 218, 116819. [CrossRef] [PubMed]
- Kansal, K.; Yang, Z.; Fishman, A.M.; Sair, H.I.; Ying, S.H.; Jedynak, B.M.; Prince, J.L.; Onyike, C.U. Structural cerebellar correlates of cognitive and motor dysfunctions in cerebellar degeneration. *Brain* 2017, 140, 707–720. [CrossRef] [PubMed]
- 3. Klockgether, T.; Mariotti, C.; Paulson, H.L. Spinocerebellar ataxia. Nat. Rev. Dis. Primers 2019, 5, 24. [CrossRef]
- Han, S.; He, Y.; Carass, A.; Ying, S.H.; Prince, J.L. Cerebellum Parcellation with Convolutional Neural Networks. *Proc. SPIE Int. Soc. Opt. Eng.* 2019, 10949, 109490K. [CrossRef]
- Romero, J.; Coupé, P.; Giraud, R.; Ta, V.; Fonov, V.; Park, M.T.; Chakravarty, M.; Voineskos, A.; Manjón, J. CERES: A new cerebellum lobule segmentation method. *Neuroimage* 2016, 147, 916–924. [CrossRef] [PubMed]
- Carass, A.; Cuzzocreo, J.L.; Han, S.; Hernandez-castillo, C.R.; Rasser, P.E.; Ganz, M.; Beliveau, V.; Dolz, J.; Ayed, I.B.; Desrosiers, C.; et al. Comparing fully automated state-of-the-art cerebellum parcellation from magnetic resonance images. *Neuroimage* 2018, 183, 150–172. [CrossRef]
- Diedrichsen, J.; Balsters, J.H.; Flavell, J.; Cussans, E.; Ramnani, N. A probabilistic MR atlas of the human cerebellum. *Neuroimage* 2009, 46, 39–46. [CrossRef] [PubMed]
- Weier, K.; Fonov, V.; Lavoie, K.; Doyon, J.; Collins, D.L. Rapid Automatic Segmentation of the Human Cerebellum and its Lobules (RASCAL)—Implementation and Application of the Patch-based Label-fusion Technique with a Template Library to Segment the Human Cerebellum. *Hum. Brain Mapp.* 2014, 35, 5026–5039. [CrossRef] [PubMed]
- 9. Kim, J.; Patriat, R.; Kaplan, J.; Solomon, O.; Harel, N. Deep Cerebellar Nuclei Segmentation via Semi-Supervised Deep Context-Aware Learning from 7T Diffusion MRI. *IEEE Access* 2020, *8*, 101550–101568. [CrossRef]
- 10. Manjón, J.V.; Coupé, P. volBrain: An Online MRI Brain Volumetry System. Front. Neuroinform. 2016, 10, 1–14. [CrossRef]
- 11. Dolz, J.; Desrosiers, C.; Ben Ayed, I. 3D fully convolutional networks for subcortical segmentation in MRI: A large-scale study. *Neuroimage* **2018**, *170*, 456–470. [CrossRef]
- 12. Thyreau, B.; Taki, Y. Learning a cortical parcellation of the brain robust to the MRI segmentation with convolutional neural networks. *Med. Image Anal.* **2020**, *61*, 101639. [CrossRef] [PubMed]
- 13. Zeiler, M.D.; Fergus, R. Visualizing and Understanding Convolutional Networks. Anal. Chem. Res. 2014, 12, 818–833. [CrossRef]
- Duran-Lopez, L.; Dominguez-Morales, J.P.; Conde-Martin, A.F.; Vicente-Diaz, S.; Linares-Barranco, A. PROMETEO: A CNN-Based Computer-Aided Diagnosis System for WSI Prostate Cancer Detection. *IEEE Access* 2020, *8*, 128613–128628. [CrossRef]
- 15. Duran-Lopez, L.; Dominguez-Morales, J.P.; Corral-jaime, J.; Vicente-Diaz, S.; Linares-Barranco, A. COVID-XNet: A Custom Deep Learning System to Diagnose and Locate COVID-19 in Chest X-ray Images. *Appl. Sci.* **2020**, *10*, 5683. [CrossRef]
- 16. Duran-Lopez, L.; Dominguez-Morales, J.P.; Rios-Navarro, A.; Gutierrez-Galan, D.; Jimenez-Fernandez, A.; Vicente Diaz, S.; Linares-Barranco, A. Performance Evaluation of Deep Learning-Based Prostate Cancer Screening Methods in Histopathological Images: Measuring the Impact of the Model's Complexity on Its Processing Speed. *Sensors* **2021**, *21*, 1122. [CrossRef]

- Amaya-Rodriguez, I.; Duran-Lopez, L.; Luna-Perejon, F.; Civit-Masot, J.; Dominguez-Morales, J.P.; Vicente, S.; Civit, A.; Cascado, D.; Linares-Barranco, A. Glioma Diagnosis Aid through CNNs and Fuzzy-C Means for MRI. In Proceedings of the 11th International Joint Conference on Computational Intelligence, Vienna, Austria, 17–19 September 2019; pp. 528–535.
- Farooq, A.; Anwar, S.M.; Awais, M.; Rehman, S. A Deep CNN based Multi-class Classification on Alzheimer's Disease using MRI. In Proceedings of the 2017 IEEE International Conference on Imaging Systems and Techniques (IST), Beijing, China, 18–20 October 2017; pp. 1–6.
- Milletari, F.; Ahmadi, S.A.; Kroll, C.; Plate, A.; Rozanski, V.; Maiostre, J.; Levin, J.; Dietrich, O.; Ertl-Wagner, B.; Bötzel, K.; et al. Hough-CNN: Deep learning for segmentation of deep brain regions in MRI and ultrasound. Comput. *Vis. Image Underst.* 2016, 164, 92–102. [CrossRef]
- Chen, L.; Bentley, P.; Mori, K.; Misawa, K.; Fujiwara, M.; Rueckert, D. DRINet for Medical Image Segmentation. *IEEE Trans. Med. Imaging* 2018, 37, 1–11. [CrossRef]
- Yushkevich, P.A.; Gao, Y.; Gerig, G. ITK-SNAP: An interactive tool for semi-automatic segmentation of multi-modality biomedical images. In Proceedings of the 2016 38th Annual International Conference of the IEEE Engineering in Medicine and Biology Society (EMBC), Orlando, FL, USA, 16–20 August 2016; pp. 3342–3345.
- Ronneberger, O.; Fischer, P.; Brox, T. U-net: Convolutional networks for biomedical image segmentation. In Proceedings of the International Conference on Medical Image Computing and Computer-Assisted Intervention, Munich, Germany, 5–9 October 2015; Volume 9351, pp. 234–241. [CrossRef]
- Szegedy, C.; Liu, W.; Jia, Y.; Sermanet, P.; Reed, S.; Anguelov, D.; Erhan, D.; Vanhoucke, V.; Rabinovich, A. Going Deeper with Convolutions. In Proceedings of the IEEE Conference on Computer Vision and Pattern Recognition, Boston, MA, USA, 7–12 June 2015; pp. 1–9.
- Ulyanov, D.; Vedaldi, A.; Lempitsky, V. Improved Texture Networks: Maximizing Quality and Diversity in Feed-forward Stylization and Texture Synthesis. In Proceedings of the IEEE Conference on Computer Vision and Pattern Recognition, Honolulu, HI, USA, 21–26 July 2017; pp. 6924–6932.
- 25. Nair, V.; Hinton, G.E. Rectified Linear Units Improve Restricted Boltzmann Machines. In Proceedings of the International Conference on Machine Learning, Haifa, Israel, 21–24 June 2010.
- 26. Chollet, F. Keras: The Python Deep Learning Library; Astrophysics Source Code Library ascl-1806. 2018. Available online: https://ui.adsabs.harvard.edu/abs/2018ascl.soft06022C (accessed on 5 December 2021).
- 27. Agarwal, A.; Barham, P.; Brevdo, E.; Chen, Z.; Citro, C.; Corrado, G.S.; Davis, A.; Dean, J.; Devin, M.; Ghemawat, S.; et al. TensorFlow: Large-Scale Machine Learning on Heterogeneous Distributed Systems. *arXiv* **2016**, arXiv:1603.04467.
- Kingma, D.P.; Ba, J.L. Adam: A method for stochastic optimization. In Proceedings of the 3rd International Conference for Learning Representations (ICLR), San Diego, CA, USA, 7–9 May 2015.
- Reetz, K.; Rodríguez, R.; Dogan, I.; Mirzazade, S.; Romanzetti, S.; Schulz, J.B.; Cruz-Rivas, E.M.; Alvarez-Cuesta, J.A.; Aguilera Rodríguez, R.; Gonzalez Zaldivar, Y.; et al. Brain atrophy measures in preclinical and manifest spinocerebellar ataxia type 2. *Ann. Clin. Transl. Neurol.* 2018, *5*, 128–137. [CrossRef] [PubMed]
- Inagaki, A.; Iida, A.; Matsubara, M.; Inagaki, H. Positron emission tomography and magnetic resonance imaging in spinocerebellar ataxia type 2: A study of symptomatic and asymptomatic individuals. *Eur. J. Neurol.* 2005, 12, 725–728. [CrossRef]
- Seidel, K.; Siswanto, S.; Brunt, E.R.P.; Den Dunnen, W.; Korf, H.W.; Rüb, U. Brain pathology of spinocerebellar ataxias. *Acta Neuropathol.* 2012, 124, 1–21. [CrossRef] [PubMed]
- 32. Tustison, N.J.; Avants, B.B.; Cook, P.A.; Zheng, Y.; Egan, A.; Yushkevich, P.A.; Gee, J.C. N4ITK: Improved N3 Bias Correction. *IEEE Trans. Med. Imaging* 2010, 29, 1310–1320. [CrossRef]
- 33. Fonov, V.S.; Evans, A.C.; Mckinstry, R.C.; Almli, C.R.; Collins, D.L. Unbiased nonlinear average age-appropriate brain templates from birth to adulthood. *Neuroimage* **2009**, *47*, S102. [CrossRef]
- 34. Avants, B.B.; Tustison, N.; Johnson, H. Advanced Normalization Tools (ANTS). Insight J. 2009, 2.
- 35. Otsu, N. A Threshold Selection Method from Gray-Level Histograms. IEEE Trans. Syst. Man Cybern. 1979, 9, 62–66. [CrossRef]
- Márquez-neila, P.; Baumela, L.; Alvarez, L. A morphological approach to curvature-based evolution of curves and surfaces. *IEEE Trans. Pattern Anal. Mach. Intell.* 2013, 36, 2–17. [CrossRef] [PubMed]
- 37. Brain Development Webpage. Available online: https://brain-development.org/brain-atlases/ (accessed on 5 December 2021).
- Hammers, A.; Allom, R.; Koepp, M.J.; Free, S.L.; Myers, R.; Lemieux, L.; Mitchell, T.N.; Brooks, D.J.; Duncan, J.S. Three-Dimensional Maximum Probability Atlas of the Human Brain, with Particular Reference to the Temporal Lobe. *Hum. Brain Mapp.* 2003, 19, 224–247. [CrossRef]
- Gousias, I.S.; Rueckert, D.; Heckemann, R.A.; Dyet, L.E.; Boardman, J.P.; Edwards, A.D.; Hammers, A. Automatic segmentation of brain MRIs of 2-year-olds into 83 regions of interest. *Neuroimage* 2008, 40, 672–684. [CrossRef]
- Faillenot, I.; Heckemann, R.A.; Frot, M.; Hammers, A. Macroanatomy and 3D Probabilistic Atlas of the Human Insula. *Neuroimage* 2017, 150, 88–98. [CrossRef] [PubMed]
- Mennes, M.; Biswal, B.; Castellanos, F.X.; Milham, M.P. Making data sharing work: The FCP/INDI experience. *Neuroimage* 2013, 15, 683–691. [CrossRef] [PubMed]
- Kennedy, K.M.; Rodrigue, K.M.; Bischof, G.N.; Hebrank, A.C.; Reuter-Lorenz, P.A.; Park, D.C. Age Trajectories of Functional Activation Under Conditions of Low and High Processing Demands: An Adult Lifespan fMRI Study of the Aging Brain. *Neuroimage* 2015, 104, 21–34. [CrossRef] [PubMed]

- Chan, M.Y.; Park, D.C.; Savalia, N.K.; Petersen, S.E.; Wig, G.S. Decreased segregation of brain systems across the healthy adult lifespan. *Proc. Natl. Acad. Sci. USA* 2014, 111, E4997–E5006. [CrossRef] [PubMed]
- 44. Cocosco, C.A.; Kollokian, V.; Kwan, R.K.S.; Evans, A.C. BrainWeb: Online Interface to a 3D MRI Simulated Brain Database. *Neuroimage* **1997**, *5*, 425.
- 45. Kwan, R.K.; Evans, A.C.; Pike, G.B. MRI Simulation-Based Evaluation of Image-Processing and Classification Methods. *IEEE Trans. Med. Imaging* **1999**, *18*, 1085–1097. [CrossRef]
- Milletari, F.; Navab, N.; Ahmadi, S.A. V-Net: Fully convolutional neural networks for volumetric medical image segmentation. In Proceedings of the 2016 Fourth International Conference on 3D Vision (3DV), Stanford, CA, USA, 25–28 October 2016; pp. 565–571. [CrossRef]
- 47. Fawcett, T. An introduction to ROC analysis. Pattern Recognit. Lett. 2006, 27, 861–874. [CrossRef]
- 48. Taha, A.A.; Hanbury, A. Metrics for evaluating 3D medical image segmentation: Analysis, selection, and tool. *BMC Med. Imaging* **2015**, *15*, 29. [CrossRef]
- 49. Vijaymeena, M.K.; Kavitha, K. A survey on similarity measures in text mining. Mach. Learn. Appl. Int. J. 2016, 3, 19–28.
- 50. Bradley, A.E. The use of the area under the ROC curve in the evaluation of machine learning algorithms. *Pattern Recognit.* **1997**, 30, 1145–1159. [CrossRef]